3 BAERGREFNEE

x =3 p=3 p=3 p=3 x =3 =3
FRZE0% | (2% @R || |20 PALES |[7RMEN LR |[CARmE |[EsikRea |[EFERA |[RRgeEn | [OREER
wEEEe | |Boausx |||HEREO |[MREORME| o5 | [HNK EREES ||H L3
Ezoma | Ry |RRESS ||[MERERANE AME
HAES wga 3 DRIEIC B L
P I ET5HE  ||ELoiEES
13 SHa
PN #ETS
B5e
ENEl (589 Hfif)
ENE2 (648 Hfi)
(=)
3L ENES (708 BhiD) x63/100
SERI
ENE4 (768 Bhi)
BN (827 #hiD)
ENE1 (904 Bfif)
ENiE2 ( 1,001 Bfr)
& (=)
(1) RAFEXSEE " B
A nm ) gggig BN ( 1,097 Bif)
ENiEs (1,194 Bfr)
ENES (1,291 Bfr)
BN (1,030 Bifir)
ENiE2 C 1,141 BEr)
=
TERIU L BN ( 1,253 Bifir)
ORI
ENi&s ( 1,365 Hifi) 1R RISL L 1285
s A oni
A BN - r 41
s50E ENH5 (1477 B
AR o (533 D)
N2 (586 Hfi)
(=)
3L BN (639 Hifi) x63/100
SERI
N4 (693 Bfi)
ENE5 (746 Bfi)
BN (813 Bfi)
- N2 (899 Bfi) 1E=o% || 1@z
(2) REEX IR o - e 18IZ2%F || 1812 || 18122 |[+ 150847 [+ 16508 4;| | 1HIZDE
EE O O i SE CEEEOR=RT| || 70/100| [>70/100 +5084| +2784 || +6084z || (A2m# || (A2E% || 948
N4 C 1,072 8ifi) PRE) PRE)
ENH5 (1,159 Bifir)
BN (924 Bf) OB
N2 (1,024 Bifir) i
=) 10RSMLLLE T 1ES
TERI L BN (1,124 Bf) FEOBE
ORI + 10084
ENigs ( 1,224 Bfr) 11RSRRL L 128600
%‘H‘)L\%ﬁ‘
BN (1,324 Bfr) o
BN (268 Bfi)
N2 (278 Bf)
(1) 3EERILL ESEmMKH ENHS (287 Hifin) x63/100
ENH4 (297 Bfi)
ENH5 (307 #hiD)
ENE1 (436 L)
o @ ENE2 (451 Bfp)
HIBZE | o) spsmsl L 7rmRH B3 (467 84D
mER
o ENE4 (483 BfiD)
BN (499 Bfi)
BN (503 &) e T
ES 108 )
N2 (521 BhD)
(3) 7EERIM ORISR ENE3 (539 Bfi)
ENE4 (557 Bhi)
ENH5 (575 8

N H—ERRHERSIRRE NS

(1) H—EXRAEHERIEME ()

(1EIZ>E 128%ME)

(2) H—EXEMEHERIEME (D)

(EI<>E 6HArzin%E)

= NERENEREME

(1) HEmaLBREME(D)
(1RI=2& +ATE#i X 29,1000)

(2) NEmENBREME D)
(1AI=2>%& +(1)190,/100)

(3) Mg 8 W:BE M ()
(1AI=2>%F +(1)1»80,/100)

x
FTEBALE. A DDNETIZRYHELZEATDOEET

D NERELESHENTE, HRERETEORZNOEEERR

hig 3



